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Abstract

In the 59 th Science Fair project N0.030402, they define a new term (Top-Center
triangle): AABC and a point D are given on the plane, with the three vertices A,B, and C as the
center, DA, DB, and DC as the radius to draw a circle respectively. The three circles intersect at the

three points E, F, and G, and then take the intersection point E, F , and G as the vertices to
form AEFG . The new aEFG is called the Top-Center triangle of ~ABC at the point D. This
research mainly discusses the relationship of the side length and area ratio between the original
triangle and its Top-Center triangle and tries to use these relationships to find the Top-Center line

and other related properties.

In our research, we find that the three side lengths of Top-Center triangle are 2ADsin ZCAB,

2BDsin ZABC , and 2CDsin ZBCA , which means when the original triangle is an arbitrary triangle,

the relationship of the side length between the original triangle and its Top-Center triangle can be



obtained. We further use the side length relationship to find the area and area ratio of the original

triangle and its Top-Center triangle. We also find that when point D is on the circumcircle of the
original triangle, the Top-Center triangle will degenerate into a straight line, called the Top-Center
line and that this Top-Center line will pass through the orthocenter of the original triangle is the most

important discovery of this article.
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/CGF = /CFG = (180 _;GCF) - (18002_ ) =90"—y

GF cG GF :
GCF 1 > fR{B Iz H — =5 T sin2y
Fa i MR gZEESII‘]LGCF sin ZCEG sin2y sin(90°—7)

_, GF = S8In2y _ 2csinycosy 2¢sin y = 2CDsin ZBCA
cos y cosy

/EAF = ZEAD + ZFAD =2/BAD +2/CAD =2/CAB = 2¢ =180

-+ AE = AF = a, ZEAF =180° .. EF & AfYER » Z/EDF =90’ = /CAB

45 AEDF i1 » PFE}}%EIE%ﬁEE% _ 2a = EF = 2asin /CAB = 2ADsin ZCAB
SIN

i EF = 2ADsin ZCAB , EG = 2BDsin ZABC ,GF = 2CDsin ZBCA

W22 1-10 Fi R4 E (T n B AA, A F—BD > HInigH AA,...A 1F D BHTE 58
AN ABEREA LA =2ADsinZA AA, k21, A=A A=A

s50A

ENIEE AA,. A T o THEEAAA TR — =T T AA B aAA A TE D INTEL =
—iBE - WEAA =2ADsin ZAAA, > EIETE AA = 2ADsin ZAAA, ... EIL IS E]

AN =2ADsSINZA A A, k21, Ay = A A = ADIRIEITSE 1-1 & 1-8 AlREER LA A A
Rodi ~ FUAECESS © DRMEAALAALW  SNESMEERLE > BEie s R (4 -
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FHEE 2-1 35 aABC BfTEZ =147 > DBiE AABC AL —85 » D 255 A ABC =i EMyTLT
%ZAB - BC - CAJAE - G~ F' =%k ED=n,GD=n,,FD=n, >
Z/BAC =a, Z/ABC = 3, /BCA=y > sEFG /5 2ABC 7£ D BENTE L =T -

HIf aEFG Z HITE By 2n,n, sina + 2n,n, sin £+ 2n,n, sin y

— : A
) — -.~..: ‘v-rﬁy’; p—e "‘ "‘ /'//.
WS ')‘.' / / \ v\')n\'.,
L
é gl =S A ib '. N
\'" ,‘\(
A =AP(E—) HA=MAP(E )
A \e”"
£XT £
% AL
o\c - 1 -
')
A =Ap(E =)

F50R :

BE=BD,AE=AD ..[UJ¥, BEAD 1%J¥ , AB P4 ED
=5 _RE 11— _ - 1— 1—
EE'=DE'=n, :EED [E]H A5 n, ZEGDans :EFD

.+ /BE'D=2/BG'D=~2CG'D=~«ZCFD=ZAFD = ZAE'D =90

- MUiEf BEDG' ~ IU#EJF CG'DF’ ~ IUiE} AFDE' HEINFEIUER
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/FDE =180" —a, ZEDG =180 — 3, ZGDF =180" — y (BN B/ 54 H #6)

AEFG =aFDE +AEDG +2aGDF
1exg =< . l=—x ==.. 1= == .
=5 ED - FDsin ZFDE +E ED -GDsin ZEDG + EGD -FDsin ZGDF
1 . 1 . 1 :
=—-2n, -2n,sin ZFDE + —-2n, - 2n, sin ZEDG + —- 2n, - 2n, sin ZGDF
2 2 2

= 2n,n, sin (180" — &) + 2n,n, sin (180" — ) + 2n,n, sin (180° — 7)

=2nn,sina +2nn, sin B +2n,n, sin y

W52 2-2 = DEEE AABCHYEEL, » aEFG B aABC {FE.0, D WYTE L =M »
/CAB=q, /ZABC=f, /BCA=y - HI|AEFG [if&

EFG . ) Lo A E b
2 - <1,aABC 5 F =S8 1T -

= gsin asinﬂsiny(ﬁz +AC’ +E2) H

A

;5RA :

2 AB ~ BC ~ AC i FAYE S BN ~h,~ h, »

CFHI=IEEAB - BC ~ AC Bhe /3, AN /'T.\ 4
HLF| =2 AB ~ BC - AC 7 HiE#ED NS
_ _ . / Ve 'x\' M AJS \
FlEsn ~n,~n, > AB ~ BC ~ AC Y45y  / /R ;,r AN \
RIECI « AH ~ BI - | W2tV |
\ \ | |

5ABC = ~BC -ACsiny =~ AB-h,

=h = BCEAC siny » [E/EH]{5

h, = AC 2B Gina h, = BC-AB sin 8
BC AC

on:h =JD:JC=1:3 .. nl:%hlﬁfiﬁﬁ%nz :%hz n, =%h3
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IRIEWIZE 2-1 sAEFG = 2n)n, sina + 2nyn, sin B+ 2n,n, sin y

BC-AC . BC-AB BC-AC _ AC-

3|
o

=2.-———sin sinf-sina +2-———sin ——Sina -sin
3-AB . 3-AC A 3-AB 4 3-BC 4
AC-AB _ BC-AB
+2- sinag-————sin B -siny
3-BC 3-AC
2 =<2 2 2
:5 BC smasmﬂsmy+§ AC’ smasmp’smy+§ AB’ sinasin gsiny
2 . ] ] —2 —2 —2
=§smasmﬂsmy(BC + AC +AB)
saBC - S0 A8 RN BRI ERINY _ 5R* sinarsin isin 7 (REsSMEEE)
Zsinasin psiny(BC' +AC' +AB') 5=z 2ot 7
sEFG gsmasmﬂsmy( + + )_ BC. 4+ AC + AB
AABC 2R’ sinasin Bsin y 9R?

(2Rsina)’ +(2Rsin g) +(2Rsiny)’
- 9R?

AR?(sin® & +sin? S +sin?
= ( T al y):g(sin2a+sin2ﬂ+sin2y)

B 4(1—c052a +1—c052,8 +1—00527/j

) 2 2 2

_ 4| 3—(cos2a +cos2/3+cos2y)
- 2

2
= 5[3—(c03205+cosZ,B+COS27/)]

AR =APNANBARNE  HEEEERx -y ~ 28F
x2+y2+22+2(—1)k(xy0052a+ yzC0S2/3+xc0s2y)>0
atfry=r =20 +2B+2y =27 , k=2=x"+y’ +2° + 2(Xy oS 2cr + y2C0S 23 + 2XC0S 2y ) = 0
Hix=y=7=10AAFA =

3+2(cos2a +€0s2+c0s2y)> 0= cosZa+c052ﬂ+c052y2—g

—(cos2a +cos2/ +cos2y) < g = 3—(C0S2a +C€0S2/3 +C052y) < g

19



AEFG
<

<1
~ABC

= %[3—(003 200 +C0S 23 + COS 2;/)] <l=

FERE Xy z=sinB:siny:sina =1:1:1055607 » i a=B8=y=60" » aABC HIF=FAF -

5% 2-3 % D By aABCHIANLL, » aEFG By aABC LML DHVTHOLZAIE »

ZCAB=a, ZABC=p, £BCA=y > HIsEFGHf&=2r’(sina+sin B+siny) > r &

- EFG
ABC N //§<é , A
aABC NEEEIE - H ABC

A

<1,aABC B IFE = AT ZESRT -

i5AA -

2 AD=a,BD=b,CD=c » A F=EE

o o - ;
AB ~ BC - AC X EFEBE A A, ~ N, ~ 0 ] L | %

\‘ o ‘-:‘(/'
TRIEHZE 2-1 / N\
AEFG =2nn;siny +2nn,sina +2n,n,sin ( el ;lT, %

D BEE AABCHYALLY on=n,=n,=r \\:/
AEFG = 2r’sing + 2r?sin S+ 2r?siny
= 2r?(sina +sin B +siny)

AABC =S (§ = BC+AZC+AB)

AEFG _2r’(sina +sin f+siny) 2r(sina+sinf+siny) 4r(sina +sin f+siny)

i (BC+ AC + AB)

AABC r-S S

-+ BC = 2Rsina, AC = 2Rsin 8, AB = 2Rsiny
- BC+AC + AB = 2R(sina +sin B +siny)

AEFG _ 4r(sina+sinf+siny) 2r
aABC  2R(sina+sinf+siny) R

W% Erdos-Mordell Inequality a+b+c>2(n,+n,+n,)=a+b+c>6r
 aABC Ry IE =PI ESREL - Hifta=b=c=R

a+b+c22(n1+n2+n3):>3R26r:>2—Rr31 L aBFG _2r

T.ABC R
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WHZE 2-4 %5 aABC B—#ifa =T » DELE AABCHYTEL) » aEFG B aABC /£ %[, D INTEL=ATE »
ZCAB=qa, /ABC =, /BCA=y > HI|AEFG [Hif& = 2R*sin 2a;sin 23sin 2y (R 5 s ABC 4}

AEFG
AABC

RS - 2 1, & aABC HIE=MPRFEIRAAIL -

F%AR -
s AD=a,BD=b,CD=c > ZDAB =q,, /DAC = a,, /DBC = f3,, ZDBA=p,, /DCA = ,
/DCB =y, » T 5| =38 & AB ~ BC - ACEEBE ~ G ~ F' -

'+ ZEBA = Z/DBA=p, (TUi#2//EADB &P
.. ZEBD = 2/EGD = 23, (EIf&f4) LEGD = B, = y, (DEL BT 1))

[FIEAS LFGD = 7, = 5, >

/EGF = ZEGD + £ZFGD = ZABD + ZACD |

; 2D
=23, =2(90" — ) =180" - 2«2 I 25
L L I. »*« '\‘
AB - cos AC -cos | AN T
fripsg|a 01 » p= 2208 o AC 008y 1/ X
siny sin 8 L \d ¥ N
| & /]
EG - 2bsin g = 2 2B 08 g , \Y
siny

=2sinB-cosf- ﬁ_ZRanﬂ( AB ZRJ
ny siny

[E]HE 7] 45 GF = 2Rsin 2y
AEFG :%-E-G_Fsin ZEGF :%-ZRsin 23+ 2Rsin 2ysin (180° — 2a) = 2R sin 2arsin 2 sin 2y

AEFG 2R?sin 2arsin 2 8sin 2y _ 2sinacosa -2sin B cos - 2siny cosy

= > - - = - - - =8Ccosa cos [ cosy
2aABC 2R sinasin gsiny sinasin gsiny
Ha+f+y=180HO <a ~ B~ y <90 HF » IRIBEELAFES
COS¢ +COS 3 +COSy

3 ZE/COSacosﬂCOSy ) COSa=COS,B=COSy=COS60°=%E%?

COSacosﬂcos;/ﬁ%j(ﬁ% ) EDCOSO{COS,BCOS}/S%

AEF? =8c0sacos Bcosy <1 » & aABC B IF = AT IFESE T -

Eitd

A
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BH5E 2-5 % aABC Jy—$lifg =, - DEify aABCHYTEL » aEFG 5 aABC FE5E () D IYTEL =

I » ZCAB=a, ZABC=f, /BCA=y - HI|EFG [aif& =8|cos & cos B cos y|aABC >

AEFG
B aec <%
F%AR -
W NLFIZBE AB - BC « AC ZIERARIER B F,GE » FE—ftk » #a Bl
.+ ZAE'B = ZAG'B =90°
. A,G', B, E'TUBEILE, HULEEL A AB 4 _
FEIATE A, B, C, G TUBEEE, HILE B AC /"‘\:

+DE':DE =1:2, DF': DF =1:2, /E'DF' = ZEDF
. sE'DF' ~oEDF (SASHE{L) , HE'F': EF =1:2

FE A EG :EG=1:2,FG':FG =1:2
-.-E'_F’:Ezl:z,E’_G’:Ezl:z,@:%=l:2,
- aE'F'G' ~ sAEFG(SSSHE{), HaE'F'G': sAEFG=1:4
a+PB+y=180 = B+y =180 -«

{EaBCE'™1 » LE'=90"= LABE'=90"—(B+7)=90"—(180" ) = — 90
[EE 75 Z/ACF' = o — 90’

+ ZABE' = ZAG'E' (AG'BE' PUBLLL[E] Fr ey AHE])

ZACF'=ZAG'F' (AF'CG' TUBLF:[E] Aty oI AHTE])

- /E'G'F'= /E'G'A+ /F'G'A= /ABE' + Z/ACF' = (a—90°)+(a—90°)= 20 —180°

8 _AB=GE - AB-sin/E'BC = AB-sin(90" - ) = AB-cos
sin ZE'BC

GF  — == — . — —
————— =AC=G'F'=AC-sin ZF'CB = AC -sin(90" - 8) = AC -cos 3
sin ZF'CB

AEFG’' =%G’E'-G’F’sin ZE'G'F’ :%E-COSy-A_C-cos,Bsin(Za—180°)
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= —%E-c057-A_C-cosﬂsin(18O° ~2a)= —%E-cos;/-A_C-cos,Bsin 20
=—AB-cosy-AC -cos Bsinacosa = —AC - AB - cosa cos BCos ¥ sina
= —2c03acos,8c05yL%E-E-sin aJ = —2c0Sa oS 3¢0s ya ABC

+aE'F'G' 1 aEFG =1:4 . AEFG = 4aE'F'G’ = -8c0s & c0s 3 ¢0s y aABC=8|cos a cos S cos y|aABC

AEFG _ 8|cosacos fcosy|aABC
sABC sABC

=8|cos o cos B cosy|

'+ —1<cosacos fcosy < 0= 0<|cosacosBcosy|<1= 0<8|cosacosBcosy|<8

ii;g =8|cosacos fcosy| <8
oo g 25y Yoot
L 2 ABC RN — 4 22 <8
"
2
AEFG

I a ABC BTN HA =AY > i N

BH4E 2-6 35 aABC B—$i =T » DBk aABC HYYML » aEFG 5 2 ABC 7ESM D EYTEL =
A > ZLCAB=a, ZABC =, /BCA=y > HI|AEFG [Hf&=2R*sinasin #sin y

AEFG

(R %y s ABCHMEEIFAE) - H —ABC

;5RA :

2 AD=a,BD=b,CD=c » 4pF|ZIRE .

AB - BC - AC ZEEHJEHESFIEN, ~ n, ~ n, N T
; \/ 'wf A/
AABD:%E-nl:%absinABDA S T LN\ \
| fe2 ’lx . |

2

—n, =22 sin/BDA= Rosin2y
AB AB
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:RZ'W%:RZ'%'ZCOSJ/:RZ

-%-Zcos;/: Rcosy

[E]HA]#5:n, = Rcosa, n, = Rcos S

R 2-1

AEFG =2nn,sina + 2nyn, sin g +2n,n, siny
=2Rcosy-Rcosf-sina+2Rcosy-Rcosa -sin f+2Rcosa - Rcos £ -siny
=2R? c0s ¢x €oS 3 cos y tan o + 2R? cos & cos S ¢os y tan 5 + 2R? cos a cos £ ¢os y tan
= 2R? cosa cos B¢os y(tan o + tan S + tan y)
= 2R? cos a cos 3 cos y(tan o tan S tan y)
= 2R*sinasin Bsiny

AEFG _ 2R%sinasin Bsiny _q
AABC 2R*sinasin fSsiny

2T 2-7 % aABC —lifg =l » DBLE aABCHYYME » aEFG 5 aABC 124N D IYTEL =4

> AD=BD=CD =R(R 3 2ABC4MNEE 1K) » LCAB=a, ZABC=p8, ZBCA=y -

AEFG [Hif& = 2R sinasin Bsiny > EAEFG 1
~ABC
c~——
\ ".’ :
o I’ > =

s5HA

HR4EHI%E 1-5 » ZBEG = /BGE = (160 _;EBG) = (18002_ 20) gy - B

/CFG = /CGF = (180 _;FCG) _ (18002_ Z) =90"—y

.+BG=BD=CD=CG ..U} BDCG &3} /BDC = /BGC
/BDC +2/BAC =360° = /BGC +2a = 360" = /BGC = 360" — 2«
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ZEGF =360" — ZBGE — ZCGF — Z/BGC => ZEGF =360" - (90" - ) (90" - y) - (360" - 22}
= /EGF = f+y+2a-180 = LZEGF =«
EG = 2BDsin 8 = 2Rsin #, GF = 2CDsiny = 2Rsin y (RESMEE LK)

1

AEFG = > -EG-FGsin ZEGF :%-ZRsinﬂ-ZRsin ysina = 2R?sin asin Bsin y

~EFG _ 2R%sinasin Bsiny 1
AABC 2R’sinasin Bsiny

W% 2-8 EZEP AA. A B—EEZEI > DEIRZEL AA. A NEE—E > DEFZE

B AAABRAA,AA AN ZEEIERET IR, L AIZEE AALA,

1 D BETEL S8 AA A TS 2D L 1 SInZAA LA, °
;E:EPInJrl:Il’AHl:Ai’sz:Az °

;5RA :

n

THLZEIE A A A =sAAD+aAAD++aA'AD=> 2sA'A /D >

1 . ' ' - ' ' A 'S <= A A 0
_(Zlk)(2|k+l)SInZA< DAk+1 :2|k|k+ls|n4Ak DAk+l ’ EﬁAk DXAkAHl ﬁé\'%éak ’

sA'A D=2

ZAH-lakD = 4A<+1ak+1D = 900 ’ ﬁﬁulﬂl%ﬁﬁ a'k Ak+lak+1D %WT&@%%? ’ Zak A<+lak+1ﬁ;5'\1 Zak Dak+1E
> aA'ALD =211 sin ZA'DA [ =21, ;sin(180" - ZA A A, ) =21 sin ZAA A, » AL
IE’ED%?L%}B Ai!AZI"'All E$§= zzlklkHSinZA(AkJrlAHZ ’ :/H;EF‘ In+1 = Il ’ A1+1 = Al ! AYH—Z = AZ °

k=1
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W9T 3-1 #5 aABC Fs—{ERE =F4 » D Bi{E sABC (Y5ME[E LHF - HIl sABC £ D BEAYTH L =]
aR b R—E4R - BI=THR=H634R -

F%AR -
#AD=a, BD=b, CD=c, /BAC=a,/ABC =/, ZACB=y

RIEZE 1 THL = AR =8 EEF ~ EG ~ GF &2asing, 2bsing, 2csiny >

i aBEFG WBMHINENSE =18 > AIE - F ~ G =Hiftiy

o AB _BC _AC  oR(iFEED) - R B ABC AMBHELER

“siny sina  sinB

. AB =2Rsiny, BC = 2Rsina, AC = 2Rsin 8

-+ AD-BC +CD - AB = BD - AC (J{-# =)
s.a-2Rsina+c-2Rsiny =b-2Rsin f = 2asina + 2csiny = 2bsin g

s2asina+2csiny =2bsin = EF+GF =EG ..E ~ F ~ G =B}t43

26




W 3-2 & AABC F—ERE=A > DER s ABC ZHMEE E—8kf - Al ABC ££ D BEAYTH L
SRR A ABC Z HE( ©

&l (—) E(=)
s5HA

M AABC ZFE [ EHE:» AD=a, BD=b,CD=c ZCAB=q, Z/ABC =/, /BCA=y

fRIZSE 1 - =JHEEE ~ F ~ G ZHISi g0 H (U —) > FTLAEE O =THREZ 3 (R )
[BIfE_E - fEVUES ABDC 1 - FI Tl s e

AB-c+AC-b=BC-a= 2Rsiny-c+2Rsin#-b=2Rsina-a=> csiny+bsin g =asina

1EVU#JY AEBH 1 » AH-EB+BH -EA=AB-EH = AH -b+BH -a= AB-EH

cosa BH = AB- cc_>sﬁ’
siny siny

fREE5 (2 2-1 - AH = AB-

cosa.b+ﬁ_cosﬂ

siny siny

S EH =p. S8, 5. 08P
siny siny

-a=AB-EH

AH -b+BH-a=AB-EH = AB-

Y[E — > 7 A ABC B filifg = 4% AH -BE + AB-EH = BH - AE

= AB-EH =BH - AE - AH -BE

— COS —— COS
fRIEE 7 2-2 BH=AB - 'B AH = —AB. 2%
siny siny
AB-EH =BH - AE — AH -BE = AB.EH = AB- £ 5, AB.S%%
sSiny siny
—~EH =a. cosﬁ Lp. 5082 cosa
siny siny
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cosa cosy
—+a-—
sin g sin g
_— = cosa cos cosa cos
EH+GH =b.-——+a-— ﬂ+c- ——+a-— A
siny siny sin g sin g
_b-cosasin g +a-cosfsin f+c-cosasiny +a-cosysiny
sin gsiny
(b-sinB+c-siny)cosa +a-cosSsin B+a-cosysiny
sin gsiny

[EIFEE#5GH =c-

_a-sinacosa +a-cosfsin f+a-cosysiny
sin #siny

=————(sinacosa +sin #cos S +sin ycosy)
sin gsiny

a

= f(sin acosa +Esin 2,B+lsin 27/)
sin Bsiny 2 2

{sinacosa+%[25in(7+ﬂ)C03(7—ﬂ)]}

" sin gsiny

:W[sinacowzminacos(y—ﬁ)]
a-sina

_sin,Bsiny[Cos(y_ﬁ)_cos(7+ﬂ)]

=w-28inﬂsin7:2asina=ﬁ
sin Bsiny

“EH+HG=EG ..E ~ H ~ G =B ita
#aABC BEA=AF » Re—M  &a BEAIEZ)

EG = 2asina = 2asin90° = 2a (HAELK) » F7LLEG i@iBEILA > X HABCTE L,
BHTESE AT - 0 E45 EG i a ABC fFEL, ©

[ (=)

i a ABC 1£ D BEFYTE (L &fu0h il 38 o ABC YT
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%2 3-3 45 aABC By—{EE =) - DB~ H Bk aABC /M| EAF IR » Leee 25 2ABC

X ) 7 : .. DH
15 D BT + L B2 ABCHE H BSITTELLAR » R Lo 51 Ly VR 2y — -

§ ~
-
ap
N
-
A N
! , ~ I
" -
. S, . T,
.
.:

s5HA
2 AABC 2 FE(, 50 > 5000 DL AB 2 AE B4 s S FRll (E B FBRE O’ » Ry D BEET E B > H B

DH
L Lers tit Lok

| %> OSSO/ BEEHN: AB 2 HEF4h it LEOI = ZDOH » U ZDO'H ==

zm%%%?

BFF4E 3-4 SPiH 48T By—fER8 B R T AFAIIUE T ABCD J—BHE - & E Bl B maE
(Miquel Point) % > VU3, ABCD fF E BE(YTEL VIS I THREVURE HAR ©

SRR -
#¢BC, ADAFAF % » AB, DCASH G B » B EBEAy
PEVTREN: o E BE/F ADCF HYSMEE| L - Frll E B5LL

{2 BC,CD, AD BB TS E,  E,  E =

mESEGR > E BEIE AADG /MEE L - EBLUEE 2
AB,CD, AD BBl e E' B, B =8t /| N
& - WUUEY ABCD £ E BMBLISpIEE S N X

! =" 7
E'E, E, E, FUBEIL4R -
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i~ P1R%

457E aABC B = AN e /h—%5D > 43RILLA ~ B ~ C =TEEL A E)L, > DA ~ DB -
DC f P EEE > FHLL=BE - G ~ F ]HBLE AEFG >
HIl EF = 2ADsin ZCAB
EG = 2BDsin ZABC
GF = 2CDsin ZBCA
HEELEY  PHE AT TENEFAA A K2 D > JIniEfF AA,..A {£ D BETEL
LB AN ABETE ALA =2ADsINZA AA, k21, A=A A=A

WoE 2 657
EFG
D% EFG Ffif& =
; «EFG I ~ABC
2 . . . —_—2 —2 —
EZVIN :§smasmﬂsmy(BC +AC +AB ) <1
L0 2r’(sina +sin B+siny) <1
FLERA=AT) | 2R%sin2asin2fsin2y <1
Ml =F4TP) | 8|cosacos Bcosy|aABC <8
FMLs 2R*sinasin Bsin y 1

HEZEZEBE 5BV AN A B EBZER > DELEZER AA. A NEE—E DR
G AR A BT AR AA o AN ZIEEERBEST IR L 1 1 0 JIZ

B AA,..A 15 D BTN S8 A'A A TR 23 L, SINZAA LA, -
;E:‘EPInJrl:Il’AHl:A&’sz:Az °

— ¥ aABC BT =T > D BE{E aABC (J4132E FB% » Il aABC 15 D 25y
L= A ER bk — L > BI=THE = B4R -
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T~ & aABC B—{EE =AM - DEEHESNMEE L > Al aABC 7E D BRHVTE O 47
1% A ABC HYEE[) ©

=~ FHsABC B—(TE=MA, > DEi- H B A AABC 2/ MEE FATENEE » L
5 aABC 17 D BEATEL4R » Ly B3 aABC AF H BEAYTELAAR » Bl Lepg B L, HY

., DH
ﬁéﬁﬁﬁbT

HERZEUEE © Pl LEE R —EWE S A PTHIMUER ABCD K—E5E - & E B B TiRE

( Miquel Point) 0% » IO ABCD 7F E BEANTE [ TUIE T DU TEEEPUBE 45 o

s ARBYAFITHR

— R

() EIF AR T353R E D 8L Ryl o ABC NHVRFEHGR - Il aABCAE D VTR = AP iR B
AABC HIfREE <1 HEEGREIIRERIE R 1. aABC R IE=F4JF » Bi& » 2. D BifE aABC Z M ©
BT FIFES( Geogebra #Z2F] » & D &Ry s ABC N{LE—HiT > FTPREVIE L = AP mEfatt
<1 & DEE aABCHYSNLIR » THIFEEL =1 o [NEEFR IR — AT E D B f aABC NIERE
—Hh > FTIPEEITR O = AP 2 ABC HfRELE A <1 -

(ORI ERERAMFEIR O Z B HHEEINESE - W AL GIRFRE -

L

1. ZHE - KBS - FRIAHN(103 4 4 H) - =P =B 5 A ME AR E(EFiR) - BHEERZE AT

2. REREE S @/ NERIEEE L Tir— APPSR N BP0 MWE 25

3. Shanhe Wu, Lokenath Debnath.Generalization of the Wolstenholme cyclic inequality and its
application. Computers & Mathematics with Applications. 2007 &= 1 H,53(1): 104 - 114

4. Bankoff, L. (1958). An Elementary Proof of the Erdos-Mordell Theorem. 7%e American Mathematical
Monthly,6X(7), 521-521. doi:10.2307/2308580

5. S EEERAE =M (2019) - B—E: =F -E—FF-

6. =P EEIRAE =M (2019) - F=8 ' VHHEE BF—F -

W

31


http://www.sciencedirect.com/science/article/pii/S0898122107000600#b8
http://www.sciencedirect.com/science/article/pii/S0898122107000600#b8

332 ] 010019

z

AERAFR R A D= kAfeEa 2 )3 Mok S
ﬁ@ﬂ@ﬁﬁﬁ~£w%ﬁ?.§;ﬁ{f%ﬁ%%’Pfﬁﬁ&

TFATR. Tl AR SRR R FF SRR T 5

-

Fr o ek (TH R BRI 20 ATH » de T SE 0 T

7

B R ANER O EBIERERF - BE S



	010019-封面
	010019-封面

	010019-作者簡介
	010019-本文
	摘要
	Abstract
	壹、 研究動機
	貳、 研究目的
	參、 研究設備與器材
	肆、 研究過程及方法
	伍、  研究結果
	陸、 未來展望與參考資料

	010019-評語



